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Materials:
e You will need no other materials.

Instructions

Use black ink or black ball-point pen.

Fill in the boxes at the bottom of this page.

You must answer four questions.

You must answer Question 1, Question 2 and Question 3.

You must answer either Question 4.1 or Question 4.2. Do not answer both of these questions.
Answer all questions in Modern Hebrew.

You must answer the questions in the spaces provided. Do not write your answers on blank pages.
Do all rough work in this answer book. Cross through any work you do not want to be marked.

Information

e The marks for questions are shown in brackets.

¢ The maximum mark for this paper is 50.

e You must not use a dictionary during this test.

e In order to score the highest marks for Question 4.1/Question 4.2, you must write something about
each bullet point. You must use a variety of vocabulary and structures and include your opinions.

ﬂease write clearly, in block capitals, to allow character computer recognition.
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Translate the following sentences into Modern Hebrew.

My brother is nice.

I learn English and Hebrew at school.

| like to watch television.

In my room there is a table and a chair.

On Sunday morning | went to the park with my friends.

[10 marks]
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Answer either Question 4.1 or Question 4.2.
You must not answer both of these questions.

EITHER Question 4.1
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OR Question 4.2
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